A. 1 pc table top 2000 [2400)x800x27 mm.
8 pes bolts and nuts M10x20°
pre-assembled. '

B. 2.pcslegs assembled.
C. 1 pchbar -

D. 2 pes mandrels 1107 (1607) mm ‘
1 pe fixed roller L=1107 (1607} mm with
washers. { NOTE! fixed roller must be
o fitted before bar) :

E. 1 pe parcel with
2 pes bolt M10x50
2 pes nuis M10
4 pcs brackets E
4 pes bolts M6x50 -
4 pes nuts Mé
1 pe spanner

- Bl peshelf for twine (4 parts)
2 pcs bolts M6x50

4 pes bolts M6x10

& pes nuts M6

o ~_C.gd6n 2.

Filpe th‘er, cutting length 1000 (1 500) mm;

Carton 3

“G. 1 pe toolbox 600X40Cx1 00 rrim:.






Kartong. 1

A1
B2
C. 1
D: 2

1
B. 1
F. 1

st

st

st

st

st

st

st

bordsskiva.

2000*800 - mm (alt

2400%800 mm) med ramjérn.

8. st bult M10*20. med mutter

formonterade.
Monterade gejdrar £or verktygs-

lada.

benbockar komplett monterade.

bakre stag.

axlar L=1107 mm (alt 1607 mm).

brytaxel L=1107 mm (alt 1607 mm)~
“med brlckcr,

snorhylla bestdende av

st
st
st
st
st

e BB B

platar 730%200 mm
stag

skruv -M6*50

skruv M6%10
mutter M6

bult M10+%50
mutter M10
insexnyckel
axelhdllare
skruv M6*50.
mutter M6 .

Kartong.2

G

H.

1'st skiraggregat, skérléngd 1000 mm

(alt- 1500 mm).
Fédstes med dubbelhaftande tejp

©“Kartong 3

1 st verktygslada 600%400%*100 mm








